Events /(1 GeV)

Events / (1 GeV)

[
O')G)Ol\)-b

138 fb™* (13 TeV)

R e o e e e A BEm
[ (Spin-0) X — HH - yybb CATO ]
[ m, = 400 GeV D .
[ m, =125 GeV ¢ Daa ]
T S+B fit E
C — B component b
C B +lo ;
F 20 ]
| E
1 ]
[ T Ll e
>

— Ko o
AT e e e L N B o A
- * * B component subiacted -
P S AU AV AFUVAVATI IETRFIN ARTAITE N

100 110 120

130

140 150 160 170 180

m,, [GeV]
138 fb! (13 TeV)

AL R R e e o ARERRE
75(Sp|n 0) X -~ HY - yybb CATO 3

E m, = 650 GeV ¢+ Data E
6 m,=125Gev | . S+B fit E

F m, =90 GeV E
5F — B component

F 1o ]
ar 20 E
3k =
of E
1
0

e T e e RRE
aAE % B component subtracted 5
2 , =
200 Lo bbb
=
-4 E

e b Lo b Lo e L L0
100 110 120 130 140 150 160 170 180

m,, [GeV]

Events /(5 GeV)

CMS 138 fo! (13 Tev)
> 307(Sp|n )X~ HH - ybb | caTO. =
O [ my=400GeV + Data 1
o  m, =125 GeV i
< 25 ER S+B fit ]
9. F — B component
§ 20; B t1o E
¥} 15} 20 {
10} E
5F [

0 ! ! !
Lo : S
10~ + B component subtracted —|
0: L\ I N B Sy
F T T e MR
-10F | | | | | | E
80 100 120 140 160 180
m. [GeV]
1,CMS 138 fb ! (13 TeV)
ErT g
9E (Spin-0) X - HY - yybb CATO E
E m, =650 GeV ¢ Data E
8Em,=125Gev ... S+B fit E
7 my =90 Gev — B component
6F W :io 3
5F 20 E
a
3t
2t 3
15 ]
O: |
4
2F
OF
-2 }
_4;




